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ACTIVIDAD 3.

TABLA 1. Muertes.

FA RS
Si a=12 b= 63 75
No c=8 d=81 89
20 144 164

e RR = “Ya+b _ 1?75 _ 12x89 _ 1068
“/eva /o 75x8 600

= 1.78

Incidencias
le= a/a+b=12/75=0.16
lo= c/c+d= 8/89=0.011

Riesgo Atribuible
RA=1I;—1,=0.16—0.011 = 0.149
% Riesgo Atribuible
%RA = kA 100 = 0.149 100 = 93.12%
0 —IEx = 51 * = 93.12%

Tabla 2. Tromboembolia.

b=13
No c=15 d=131 146
20 144 164

e RR = Yatb _ °/1s _ 5x146 _ 730
“ferd /146 18x15 270

= 2.703



Incidencias
le= a/a+b=5/18=0.27
lo= ¢/c+d= 15/146=0.102

Riesgo Atribuible
RA =1 -1, =0.27 —0.102 = 0.168

% Riesgo Atribuible

vops— FA oo _ 0168
AT YT 027

x100 = 62.22%



